Maths atMarden

Upper Key Stage 2



AET Mathematics

Why do we follow AET?
Show
Do
Think
Explain
Solve




C.P.A. approach

Concrete Using real objects
Pictorial Diagram or picture

Abstract Using mathematical notation



Place value

Each year the children will always start off exploring place value. The
numbers and complexity of this increases as they go through the

school.

Make the number 1392 using Base 10.
What do you notice? How many ones? How many tens? Hc
many hundreds? How many thousands?

Part, part, whole...

Now draw the number 4375. Again, how many ones and how many
tens? How many hundreds?



432 flowers 521 flowers

How many flowers are there altogether?

Step2 Add the tens.
3tens + 2 tens =5 tens

Add the ones.

2 ones + 1 one = 3 ones Add the hundreds.

4 hundreds + 5 hundreds = 9 hundreds

432+ 521 =953

There are 953 flowers altogether.




i. saved £2314,
. saved £4240 more than . saved,

How much did ’ save?

Let’s Learn We need to find the sum

of 2314 and 4240.

Yy

k>
. ‘ |—) Step 1 Add the ones.

4 ones + 0 ones = & ones

' l Step2  Add the tens.
1tens + &4 tens =5 tens

o Find the sum of 2314 and 4240,

e Step 3 Add the hundreds.
- Use number discs
to hel 3 hundreds + 2 hundreds = &5 hundreds
100 Py
+ Step 4 Add the thousands.

@@ @@ 2 thousands + 4 thousands = 6 thousands

.T 0 2314 + 4240 = 6554
+ =

, saved FE554,




Step 2 Add the tens, Stens + 8 tens + | (o1 =14 tens
Charles uses digit cards to make two numbers. Rename the tens. 14 tens = 1 hundred and 4 tens Stip ll' Mﬂl thE thﬂUSﬂndS.

I v [ 2 ” > I 6 I I i @@ @@ h thousands + 1 thousand + 1 thousand = 6 thousands
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Find their sum. g@ 0 1°° @@ @@ xigf \1&
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Step 1 Add the ones. 6 ones + 7 ones = 13 ones - @ M| 10
Rename the ones. 13 ones = (o1 and 3 ones :

b
1

o Add 4256 and 1967

@ @ | E Step 3 Add the hundreds.
; 2 hundreds + 9 hundreds + 1 hundred = 12 hundreds 4 2 5
1 98

@ @ LA Rename the hundreds. 12 hundreds = 1 thousand and +
2 hundreds

| 00O add ones
@ 10 10 10 o ! add fers
010 % 1 7

add hundreds
add thousands

+

4256 + 1087 = 6243




O " rosgdd s
Numbers up to 1,000,000 and

decimals by the end of year 5

£3.70+£1.25=
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] 9 5 £4.9 5
Pick any two of the above and talk about B  What kinds of things A
their prices. ~ | cost this much? Add the hundredths. Add the tenths.
o Add the whole
3 numbers.
; - ]
Together, they cost £4.95, & ?
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Applying to contexts



Subtraction



Sam had 58 cookies.
He ate 4 cookies.
How many cookies did he have left?

Subtract 4 from 58. Method 2 Subtract ones.

f ) ’ - ""ﬁ
Method 1 Count back from 58 o~ vk ﬂ - “ g ‘.
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50 51 52 53 54 55 56 57 58

Sam had 54 cookies left.




There were 975 beads in a jar,
Emma used 723 beads to make some necklaces.
How many beads were left in the jar?

Step 3 Subtract the hundreds.
9 hundreds = 7 hundreds = 2 hundreds

Stepl Subtract the ones. Step2 Subtract the tens.
5 ones — 3 ones = 2 ones 7 tens = 2 tens = 5 tens

975-723=252
There were 252 beads left in the jar,




In Focus

How can Hannah subtract to
find the answer?

Subtract 26 from 831. C O I u m n

Stepl  Regroup 1 ten into 10 ones.

Subtract the ones. S U bt raCtI O n

11 ones - 6 ones = 5 ones




After Ruby spent £3169, how much was left?

I have £5280 with me. A

0|1 X 0><
. G subtract ><>< M}( 5 2 8 &
£5280 3169 >< ){)( XX 316 9
r ' A ' s
om I Mo KK ————
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spent remaining >< ><
5280 - 3169 =
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2280 | ' 10 10 5 thousands 2 hundreds 7 tens 10 ones
1000 10 10 ﬁ - Jthousands = 1 hundred - 6Gtens - UDones
- o < thousands 1 hundred 1 ten 1 one
10 10
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b4 Checking with

addition



Stadium Capacity
Wembley Stadium S0 000

Twickenham Stadium | 82 000 Etihad Stadium _| 47726
Old Trafford 23 731 Maocron Stadium | 28 723

Millennium Stadium 74 500 There are _ more seats in Etihad Stadium than
Olympic Stadium 54 000 there are in Macron Stadium.

Stadium of Light 49 000
Etihad Stadium 47 726
Cardiff City Stadium 33 280

Macron Stadium 28 723 @@ 10 10
Ageas Bowl 25 000
Athletic Grounds 18 000 ®®

Let’s compare the number of seats in the different stadiums.

o Compare the number of seats in Etihad Stadium and in Macron Stadium.

47 726

Can Ido this - 28 723
mentally?

Fmm = e — oy
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Subtracting
decimaldy the
end of year 5

A deepening
progression with
consolidation

o] lo] [1] [2]

makes this.
[3). {3
- 800
a.012 - W W e
. T1J1] 01,01 01 01 01 | oo @
gGl? - W O R N S S
111] 01,01, 01 01 01
o r W T L T S S
_ 0.1 01 01 | 001 001 001 001 @@
- W S S A — — S S
LI
# ] . 001 0.01 001 0.01
qﬁI? .'-1_.-*’ L \ﬂ_l_.]-:" \?_,1: ?_}-’ e e W s
01,01 01 0.01 0.01 0.01
wr S S S
0.1 01 01 | oot 001 001 @@@
; e W W | Y WL
/ 1
7 0.1 01 01 | oot oo1 oot @@@
Ay 14101 o B 1 e
01 .01 01 | 001 0.01 0.01 @@@
- S S
w | ©0e
* MNow we can subtract. g gy 7
Is this the smallest -8.5 4 3

possible difference?

I




Progression in multiplication



8

Multiply 2 ones by 4

2 x4

Multiply 2 tens by 4

20x 4

=80
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